L4(3).2,5

(mod 3)
blocks | defect matrix
G 1 6 47 x 19
2 0 7291 = X27,0, 15,0
3 0 7292 = X27,1, P15,1
2.G: 4 6 20 X 6




Block 1:

$1,0

©1,1

©2,0

2,1

3+  ¥5,0

©5,1

©6,0

©6,1

©7,0

Y71

Y8+ 10,0

11 = x1,0

Io =x11
261 = x2,0
262 = x2,1
263 = x3,0
264 = X3,1
391 = x40
392 = x4,1
521 = X5,0
922 = X5,1
651 = X6,0
652 = X6,1
653 = X7,0
654 = Xx71
901 = xs,0
902 = X8,1
2341 = X9,0
2342 = x9,1
2343 = x10,0
2344 = X101
2601 = x11,0
2602 = x11,1
2603 = x12,0
2604 = X121
2605 = x13,0
2606 = x13,1
3511 = X140
3512 = x14.1
3901 = x15,0
3902 = x15,1
4161 = Xx16,0
4162 = x16,1
4163 = x17,0
4164 = X171
8321 = X184+
4681 = x20,0
4682 = 20,1
5851 = X21,0
9892 = Xx21,1
9893 = X22,0
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(Block 1:)

¥10,1

P11+  $¥13,0

¥13,1

¥©14,0

14,1

11 =x1,0

o =x11
261 = x2,0
262 = x2,1
263 = Xx3,0
264 = Xx3,1
391 = x40
392 = X4.1
521 = X5,0
922 = X5,1
651 = X6,0
6952 = Xx6,1
6953 = Xx7,0
654 = X7,1
901 = x3s,0
902 = xs,1
2341 = X9,0
2342 = X901
2343 = X10,0
2344 = X101
2601 = x11,0
2602 = x11,1
2603 = x12,0
2604 = x12,1
2605 = x13,0
2606 = x13,1
3511 = x140
3512 = x14,1
3901 = x15,0
3902 = x15,1
4161 = X16,0
4162 = x16,1
4163 = x17,0
4164 = x17,1
8321 = X18+
4681 = Xx20,0
4682 = X20,1
9851 = X21,0
9892 = Xx21,1
5853 = X22,0




(Block 1:) | 910 ®11 ®20 921 @3+ $50 P51 $60 P61 P10 P11 P8+ P00
5854 = X22,1 1 . 1 1 2 . . 2 . 1 .
1280 = yozs | 1 1 5 . .2 11 1 .
12802 = x25+ 2 2 1 1 4 3 3 1 1 3 3 1 1
7801 = X28,0 1 . 3 2 1 1 1 1 1 1
7802 = X28,1 . 1 3 1 2 1 1 1 1
10401 = x29,0 1 1 1 4 1 1 1 1 3 1 1
10402 = x29.1 1 1 1 2 4 1 1 1 1 1 3 1
p10 = 11
11 = 1g
P20 = 61
w21 = 062
P34+ = 201
(Block 1:) | ¢101 @11+ ®13,0 ©13,1 P10 P14, w50 = 151
w51 = 152
5854 = X221 1 1 weo = 19
12801 = x23+ . . 1 1 1 1 we1 = 199
12805 = X254 1 1 1 1 . . Yro = 444
7801 = X28,0 . 1 1 . . . pr1 = 44,
7805 = X28,1 1 1 . 1 . . P4 = 90,
1040, = X29,0 . . 1 1 1 . Y100 = 69
1040, = X29,1 . . 1 1 . 1 Y101 = 695
P11y = 252
p130 = 1564
Y131 = 1562
Yra0 = 294
p141 = 294,



Block 4:

P16+ P18+ P20+ P22+ P24+ P26+

401 = X30,0
402 = x30,1
4165 = X31+
4166 = X33+
5201 = X35+
8322 = X37+
8323 = X394
4801 = x41,0
4802 = X411
5202 = x42,0
5203 = x42,1
5204 = Xx43,0
5205 = X43,1
5206 = X44,0
5207 = X441
12803 = xa5+
12804 = X47+
15601 = x40+
10801 = x51,0

10802 = x51,1
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P16+
P18+
$20+
P22+
P24+
P26+

32,
72,
120,
232,
720,



